College Algebra, Chapter 1 Study Guide Key

1. One graphing, below are some examples (one of the test won’t look like these but use the basic

building blocks of graphing

Graph:
8

= e
“y=" button
“clear” button
“x-key” button
“N” putton

“(“ button

8

“/” button

9

“)” button
“minus” button
“math” button
“right arrow” to NUM
“enter” on abs(
“x-key” button
“minus” button
“2"" putton

“x squared” button
“x-key” button

“)” button

“graph” button

Graph:
1
y=[x7 +x°

“y=" button
“clear” button
“math” button
“right arrow” to NUM
“enter” on abs(
“x-key” button
“N putton

“(“ button

1

“/” button

7

“)” button
“plus” button
“x-key” button
“N" button

3

“)” button
“graph” button

Graph:

y=|x’ —x - 2‘

“y” button

“clear” button
“math” button

“right arrow” to NUM
“enter” on abs(
“x-key” button

“x squared” button
“minus” button
“math” button
“down arrow” to cube root
“enter” button
“x-key” button
“)” button
“minus” button
2
“)” button
“graph: button
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2. One of the following types

15(% x)—15(x) =15(7x) — 15(% x)—2(15)

5(4x)—15x=105x—-3(1x)—-30
20x—-15x=105x—-3x-30

Solve:
x=2 1 X

4 3 6

{2

3(x=2)=4(7)—-2(x)

3x—-6=28-2x

5x=102x-30 3x+2x=28+6
Sx—-102x =-30 5x =34
—-97x=-30 5x 34
~97x _-30 5 5
-97  -97 L=t

30 5
xX=—

97
Solve:
S5x x+5 _
7 3

21(571) - 21(’“;5) -21(-2)

35x)=T7(x+5)=-42
I5x—=7x-35=-42

8x—-35=-42
8x=-42+35
8x =-7
8x -7
8 8

-7
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3. One of the following types

Solve:
8v3x—1=16
8V3x—1 16
8 8
V3x—-1=2

(3e-1f =2
3x—-1=4
3x=4+1
3x=5

3x_5

3 3

xX==

Solve:
3Jx+5-2=4
3Wx+5=4+2
3Jx+5=6
3Wx+5 6

3 3
Jx+5=2
(Vx+sf =2
x+5=4
x=4-5
x=-1

4. One of the following types:

Use the zero factor property to
solve:

x*—8x-20=0
(x—-10)(x+2)=0
x—10=0 x+2=0

x=10 x=-2

Use the zero factor property to
solve:

12x* —=11x+2=0
Bx=2)4x-1)=0
3x—2=0 4x-1=0
3x=2 4x =1
3x_2 4x _ 1

3 3 4 4

2 1
xX=— xX=—
3 4

Use the zero factor property to
solve:

9x* -16=0
Bx+4)Bx-4)=0
3x+4=0 3x-4=0
3x=—4 3x=4
3x -4 3x 4
3 3 3 3
-4
X=— X =

3 3
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5. One of the following types:

Use the square root property to
solve:

(x+3)* =9
x+3:i\/§
x+3:im
x+3=13

x=-3%3

x=-3+3 x=-3-3
x=0 x=-6

Use the square root property to
solve:

Bx-1*>=24
3x—1=+:24

3x—=1=%2J(2)(2)(2)(3)
3x—1=42/(2)(3)
3x—1=+26
3x=1+26
3x 1246
3 3
1+26
3

X =

Use the square root property to
solve:

(5x+2)2 =25
Sx+2=+J-25
Sx+2=+J(=D5)5)
S5x+2 =15
Sx=-215i

5x -2 . 5i

P Nt
5 5 5

x=—=i

6. One of the following types:

Use completing the square to
solve:

x*+4x-2=0
xP+4x=2
th.en:(4-lJ2 =(2)° =4
2
xP+4x+4=2+4
X’ +4x+4=6
(x+2)*=6
x+2=+/6

x:—Zi\/g

Use completing the square to
solve:

x> +2x+30=0
x? +2x=-30

1Y )
then.(Z-Ej =) =1

X2 4+2x+1=-30+1
x> +2x+1=-29

(x+1)*=-29
x+1=%4/-29
x+1=1iV29
x=—1%iy29

Use completing the square to
solve:

x> =10x+1=0
x2=10x=-1
2
1 )
then:[—l()-EJ =(=35)% =25
x2=10x+25=-1+25
x> =10x+25=24

(x-5?%=24
x—5=+24

x=5=%2J/(22)(2)(3)
x-5=12,(2)(3)
x=5=12/6
x=5+2/6
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7. One of the following types:

Use the quadratic formula to
solve:

Use the quadratic formula to
solve:

x> +2x+5=0 x> —10x+1=0
a=1,b=2,c=5 a=1,b=-10,c=1
xz—bidb?—@w x:—bivb?—aw
2a 2a
o (2)£+/(2)* =4(1)(5) ol (-10) % «/(—10)2 -4
2(1) 2()
_—24/4-4()(5) _ 10+,/100 - 4(1)(1)
*e 2(0) e 20)
:—ZiJ4—20 leOiJHM—4
2 2
_-2%4-16 leOi%%
2 2
= 2% (=D()4) o 10+ J 2)2)(2)(2)(2)(3)
2 2
Lo —2t4 10+2-2,/(2)(3)
2 r=
2
xz%fi%i leOi%@
, 2
X:—liZZ x:5i2\/g

1
x=5+2J6

Use the quadratic formula to solve:
x*=12x4+20=0
a=1Lb=-12,c=20

‘= —bx~b’ —4dac
2a
L~ (12)£(-12)* - 4(1)(20)
2(h

12 + /144 — 4(1)(20)

2(1)

= 12+/144-80

2
x_lZiv%Z
2

12+./®)®)
T
1248
)
12+8
x:
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8. One of the following types:

Use the u-substitution to solve:
x*=7x*+10=0
u’—Tu+10=0
u=-2)(u-5=0

u-2=0 u-5=0

u=2 u=>5

x*=2 x*=5

x:iﬁ x=i\/§

9. One of the following types:

Solve: Solve:

5x-2|=3 47x—-1=8

5x—2=3 5x-2=-3 47x-1 8
5x=3+2 5x=-3+2 4 4

Sx=5  Sx=-1 [7x—1=2

x=1 x=-1/5 Tx—-1=2 Tx-1=-2

Tx=2+1 Tx=-2+1
Tx=3 Tx=-1
x=3/17 x=-1/7

Solve:
S2x+3/-1=9
S[2x+3[=9+1
S2x+3/=10
52x+3 10
5 5
2x+3 =2

2x+3=2 2x+3=-2
2x=2-3 2x=-2-3
2x=-1 2x=-5
x=-1/2 x=-5/2
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10. One of the following types:

Solve:
[4x-1<3
P=4x-1,0=3
-Q<P<Q
-3<4x-1<3
-3+1<4x<3+1
-2<4x<4

-2 _4x 4

4 4 4

:l<x<1
2

Solve:

|5x+2|>4
P=5x+2,0=4
P<-0 or
Sx+2<-4 or
Sx<-4-2 or
Sx<—6 or

x<—-6/5 or

P>Q
Sx+2>4
S5x>4-2
5x>2
x>2/5




